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Question 1
Find the vaue of X for the qfo(lowfn%, 4] ychons.
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Fnd the Smplp inferest and fetal omoutt offer theee years for d

fetal of CQfPON' PM 2600 h_a bonk  with a o»mple nterest  rafe

of [2 % por amnum.
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b= 2% —
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So, the fotal amount offer Hhree Years 15 AM 3 536
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Queshon 4

pM 7200 s Clzﬂmirecl inf* 4 bank  dCoount W Tohn  with e amuol

(nferect mfg o{f 19 ond compomo(zat once _a_yeov. Fiod +he amount

be  wil have offer 3 yeors-

Yar 1 : &M 7300 X 7% = pM 5U Total s now “PM 79l
Year L : PM 78U X % = PMBYe.77 Tola| is now @M 33571
Year 3+ M 935797 x 7% = PM Bgb-0Uq Teta] is now MM 89423139
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